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AHP 7|
| KEREE | EEEEEE
AAL - Pairwise Comparison
&7 |2 BA}
CAt
AAL [ ]
=4 2[4 =d FIEAL OIS BAt _ _
- AW S M (2 2Z0f|A i2tjE H|w, 98 A k)
CAt
AA} 1 12} j7t Lot SR & (Equal Importance)
3 12} j7F 2F7F O 58 ( Moderate Importance)
HOIE BA} 5 19 j7} 48| O B8 (Essential Or Strong Importance)
CAF 7 12 j7} Ol © &2 (Demonstrated Importance)
9 12 j7t BUOX 22 I &2 (Extreme Importance)

2,4,6,8 Intermediate value




03 Case Study

7|2t 1 5 2 0.588 0.571 0.571 0.577
HEA EolE 1/5 1 Y 0.118 0.143 0.143 0.135
ZQIE 7 2 1 0.294 0.286 0.286 0.288

A 1.7 7 3.5 1 1 1 1

AAL BAt CAL AAL BA CAL -1 Ll
AAL 1 1/3 1/6 0.1 0.077 0.222 0.096
BAL 3 1 1/3 0.3 0.231 0.222 0.251
CAL 6 3 1 0.6 0.692 0.667 0.653
Al 10 4.33 1.5 1 1 1 1




03 Case Study
MH|A0| S5 18 1Y

= 710

24 2k FIEA}

SHO|
= -

CAL
AAL 1 2 4 0.571 0.571 0.571 0.571
BAt Y 1 2 0.286 0.286 0.286 0.286
CAt v 1/2 1 0.143 0.143 0.143 0.143
Al 1.75 3.5 7 1 1 1 1
B vz gz suzwmole
AM BAF CAt AA BAF CAt  HTiHIS

AAL 1 2 5 0.588 0.571 0.625 0.595
BAt VA 1 2 0.294 0.280 0.250 0.277
CAL 1/5 Z 1 0.118 0.143 0.125 0.129

Al 1.7 3.5 8 1 1 1 1

. C.I/ C.RAAH

- C.I: Consistency Index

- |2 ST AOP YBAS 7| D ZTHE MU=

HHF= 2R

- C.I71 0.10[5t0|H L2+ 7HA| 11 H| & SHCH= 2|0|

C.I

C.I
Random Consistency Index

CR =

- Random Consistency Index

n 1 2 3 4

RCI 0 0 0.58 0.9
5 6 7 8 9
1.12 1.24 1.32 1.41 1.45

*RI= 1~97HA| & RS2 550 GAES Adet =

O|22EH 5k Cl
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MH|A9| BEA 19 1y

B 2zyug0) A

all Ell: \‘313 .‘:1 311 - “L'-l + &r- b ‘\""1 + 313 " 1\!’3 = 5|31
- . - R . o i
JIE2|E = [321 22 323 |Wz| = |32 Wy T3y Wy +a5; - W; g H[EA) = =
dz; Az, Azz)|W; dz; - Wyt a3, - Wy +a3; - Wy 7F&2l
P eugas
AH|A7L UESE 2t SMZ2E0| £ & 42| 0|8510] /ME ATl H| W
7K 0.577 0.135 0.288 (7tS2]) S LIEHNI 1, AH[AEZL A2ASE ZH0]| CHSE L2k HIES A4
SIRACt ZutAM o2 AH|AFO| o|AS L HIH5IY 7HE2|E HoE £
. ALE 8 A A X1, 0] 2 AES 2[AS) 510 LG 4~ QT
2% d4
A 0.096 0.571 0.122 0.048
AHP HiHS E5|| CHOH AV} 2|0 2 MAE|QALCT.
C 0.653 0.143 0.129  0.046 = S8 et Azt IS5
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S = = = = = = = =
EHHY 7|ZH SM0| ZEHd Of|2 MH|AO| CHSE Y IE|S A0l 2012|= 04 &7 | 2t0]| Tl AMEASH HiE 7|7k HEHH0| Tt 0| 22 4|2
Re| o183 M Ak (Artificial neural network) 0| 838t S5 1351
22
i B |
HEO| Eftlf AH/HHE TS/ SAIF2S/SM /A0 2t AL A7} HESHHiE 7| 7He| A =Hdof| CHS of| =2 SHCL.
7|cH &t
1. 534 &40 FHet 1 4ZS F0olist ArRS0| it H[O|E, Bi&S0| B2 & = U= H|0[E{7}F ULt 71,
2. 2HEO| Bl AH/HHESTZ [ SAIFE4/SM /A o] 2} Ak (correct/notcorrect) O]l CHSH B[O|E{ [HO]E]_1]17F AT 7+,
3. A=t (correct/notcorrect) HIO|E{ =2 Train set2 &2 510 QIZ34AAXZ train SHC. [E101E{_1]
3. Traing Q1321420 [C|O[E_1]2] ‘Result’ ZE 2t2 A 2ISH HIOE £ test3l= Il QISMEU0| =2 o SSICt. - .
company satis order weather area Result
[ElI0]E{_1] l i |
—— . 70 s 25 correct
i der weather area I Result 19 correct
_ Ad I company satis or |
. 57' E%; rix) r o]y, s 25 notcorrect 22 correct
—— 43 4 560 15 25 notcorrect 21 correct
[ ) /’ \\ ,¢ ——— \\ 43 6 450 23 22 notcorrect 19 correct
o ‘ I 43 1 450 24 26 notcorrect 3 correct
H 43 2 450 8 24 notcorrect 21 correct
n \~ ’/ 2N P o ‘ 43 5 1190 9 22 notcorrect 22 correct
i - D FEE g
43 6 560 9 27 notcorrect 19 correct
o] olojo HIO|E: 43 1 809 10 26 notcorrect 22 correct
200H2| AU2|of AFE A} L|0|E
43 4 1640 11 25 notcorrect 21 correct
P S LIS 2454515} e e AZI St 39 6 1640 24 25 notcorrect 19 correct
SE IEAAEAC] FUUHARE Yt H|O[HZFE RS 4TI, 39 5 1190 15 22 notcorrect 22 correct
S HE 2R H ST |Z2E S M| HEHdo]| Ci$t correct/notcorrect H|O|E 7t QUCH 7HESICE, 39 1 560 15 26|natcorrect 3 correct
39 2 560 23 24 notcorrect
EH A0LRC [EA|RB2A (o K=1 b3 23 correct
EHH AH/H ST 2 /SA T2/ EM/AFE S Attributes2 | 39 8 2 24 22| correct
21 9 63 8 20 correct




[1] [2]

company satis order weather area Result company satis order weather area Result
_—rl_g:l 1'_1-] 1 39 10 70 3 25 correct 39 10 70 3 25 correct
— o company satis order weather area rrect w:esult prrect
43 2 560 15 2% notcorrect fprrect 43 2 560 15 25 otcorrect prrect
43 4 560 15 2% notcorrect fprrect 43 4 560 15 25 flotcorrect prrect
43 6 450 23 28 notcorrect fprrect 43 6 450 23 22 fotcorrect prrect
F} TA 43 1 450 24 2@ notcorrect fprrect 43 1 450 24 26 flotcorrect prrect
[1] [EI|O|E1—1] Traln Setoi OHA-I ReSU|t E:IO.” III‘E'I- l_lo_ |%:>| 43 2 450 8 24 notcorrect fprrect 43 2 450 8 24 fotcorrect prrect
. = 43 5 1190 9 28 notcorrect fprrect 43 5 1190 9 22 flotcorrect prrect
?:I‘% tra'n ot 43 6 560 9 2 rrect brrect
o notcorrect 43 6 560 9 27 Qotcorrect
. 43 1 809 10 2@ notcorrect fprrect 43 1 809 10 26 fotcorrect prrect
[2] TrainEl 21Z41Z 0| Train set H|O|E{2| correct/notcorrect 43 4 160 11 2dnotomea fpreect 43 4 640 11 25 fotcomect prrect
39 6 1640 24 2% notcorrect [prrect 39 6 1640 24 25 fotcorrect prrect
HIO|E{E H|2|5t &, 0| AS Test set@. 2 510 CtA| Zt G|O|E{ =2 39 5 1190 15 24 notcorrect [prrect 39 5 1190 15 22 fotcorrect prrect
39 1 560 15 2d notcorrect Prrect 39 1 560 15 26 fotcorrect Prrect
COITeCt/nOtCO rrect % jEI-I:IEﬂ%EII- 39 2 560 23 24 notcorrect 39 2 560 23 24 fotcorrect Rrect
39 8 72 24 28 correct 39 8 72 24 22 dorrect
2 2 - & 2 e e e
Train Set Test Set
_ [3] company satis order weather area Result
6:' I.Zi 2 company satis order weather area Result 39 10 70 3 25 correct
I_ 39 10 70 3 25 correct company satis order weather area rrect
company satis order weather area rrect 43 2 560 15 2% notcorrect fprrect
43 2 560 15 2% notcorrect fprrect 43 4 560 15 28 notcorrect fprrect
43 4 560 15 2% notcorrect fprrect 43 6 450 23 28 notcorrect fprrect
[3] &2 Train set®| correct/notcorrect G|0|E{2} Q54 ATC 2 > 6 40 B Hotorea pred 4 1. 450 24 2froteorrect prrect
43 1 450 24 2@ notcorrect fprrect 43 2 450 8 28 notcorrect fprrect
; = 43 2 450 8 24 notcorrect fprrect VS rrect
2235l Test set?| correct/notcorrect H|0|E{2| 0| (Error) & & P T 1190 o ol ctcorect Brrect - e O Ity 0
_ 43 6 560 9 2¥ notcorrect fprrect rrect
?_IB"_T’_ ?_I-g— 1Z Ul‘Ol <:>O|A-i g|-0| 43 1 809 10 2@ notcorrect fprrect ji 1 1222 1? 2 :z:zz::z: rrect
43 4 1640 11 2% notcorrect Prrect 39 6 1640 24 28 hotcorrect Pprrect
39 6 1640 24 29 notcorrect [Prrect 39 5 1190 15 23 notcorrect [prrect
39 5 1190 15 28 notcorrect fprrect 39 1 560 15 2@ notcorrect [prrect
39 1 560 15 2@notcorrect [prrect 39 2 560 23 24 notcorrect
39 2 560 23 24 notcorrect 39 8 72 24 28 correct
39 8 72 24 28 correct 21 9 63 8 2
21 9 63 8 2




install.packages(“neuralnet”)
library(neuralnet)

data <-read.csv("C:/Users/AjoulE/Desktop/FLIGHT.csv")
target <-"Result”
atr<-ncol(data)-1

set.seed(12345)

index <-sample(1:nrow(data), round(0.70*nrow(data)))
scaled_data<-data

maxs<-apply(datall:atr],2,max)

mins <-apply(datal1:atr],2,min)

scaled_datal1:atr] <-as.data.frame(scale(datal1:atr|,
center=mins, scale=maxs-mins))

trainset <-scaled_datalindex,

testset{-scaled_data -index,

trainset$recommend= trainset$Result== “correct”
trainset$notrecommend= trainset$Result==
"notcorrect”

n <-names(data)

formula <-as.formula(paste(paste(“correct+notcorrect”,"~

paste(nin target], collapse =" + "

"),

net <-neuralnet(formula,data=trainset,hidden-c(3
plotinet

real <-testset/,ncol(data

predict <-compute(net, testset/,1:atr!)Snet.result
maxidx<-function(arr) { return(which(arr== max(arr
idx<-apply(predict, c(1), maxidx)

prediction <-c(' correct ', 'not correct ')lidx

result <-table(prediction, testset$Result
accuracy <-(suml(diag(result)))/sum(sum(result

ES

. Neuralnet packages & 0|83} neuralnet &+ AL
. ‘Result’ columng 7|22 ‘correct’ 2t ‘notcorrect’ THH
. Train Set2| 70%E Test SetC = AIE
Q1543 UO| Nodelt Layer = &
z

. Z41010]| CHSt Plot2} Error EA|

u b~ W N -



Train 2+4
h(3) h(4) h(4,3)
company ,
company : ‘ company ' 40719
¥ o
i . A
: satis corre o
salis satis ‘ correct
order order
order
°
&
weather weather " notcorrect
* weather notcorrect
ZEs area o “
area
Error; 0.002585 Speps: 887
I FP | Eror 0001328 Pteps: 310

Node 7} 37H & mf @147l T Q0|4 Node7}47H & mj 2IB-AIZao| T Q0|4
-Y Error7} 2F0.0482 0.05HLC} 2202

Q004 243

LayerZt 271 2 U QSHFYQlHE 7O
-) Error7t 2k 0.03432 0.052Ct 2302
R ES

= TIr—
-) Error7t 2 0.0102 0.05£C}
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